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GEOMETRIC FORMULAS
Rectangle Parallelogram Triangles
h ih
A = area, \
b = base, b Cb b
h = height, . _
C = circumfer- A=bh A = bh
ence, V = vol-
ume, . . . .
Trapezoid Circle Circular Cylinder Sphere

§ =surface area

by

A:.%(bl‘l‘bz)h A‘=7”.2’ C =2nr V:Ah:]tr2h, S = Ch=2nrh V:%an, S:47TI‘2
) (cylindrical wall)
Prism ) Circular Cone Pyramid




|
|
|
!
5'7

VECTOR IDENTITIES
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IDENTITIES INVOLVING GRADIENT, DIVERGENCE, CURL, AND LAPLACIAN
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VERSIONS OF THE F'UNDAMENTAL THEOREM OF CALCULUS
b
f F@®dt = fb) — f(a) (the one-dimensional Fundamental Theorem)

f grad g o dr = ¢(r(b)) - qS(r(a)) if Cis the curve r = r(f), (a <t < b).
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f/ curlF e Nds = ?g Fedr = '<]§ Fi(x,y,2)dx + Fo(x, y,2)dy + F3(x, y, z) dz where C is the oriented boundary of S. (Stokes’s Theorem)
s c c

Three-dimensional versions: § is the closed t;oundary of D, with outward normal N

/f divFdv = # FoNdS  Divergence Theorem f[/ curl FdV = —ﬂ F x Nds§
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FORMULAS RELATING TO CURVES IN 3-SPACE

d - d
Curve: r = r(t) = x(Di + y(0)j + z(Ok Velocity: v = d—: =T _ Speed: v = |v| = d_j
d ’ d d’r dv 4 -
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The Frenet-Serret formulas: — =«N, —— = —T + 1B, — = —1N
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MISCELLANEOUS ALGEBRAIC INTEGRALS
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INTEGRALS INVOLVING vx2+ a2 (a > 0)
(If Vx2 — a2, assume x > a > 0.)
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INTEGRALS OF INVERSE TRIGONOMETRIC FUNCTIONS ____
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EXPONENTIAL AND LOGARITHMIC INTEGRALS ______
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INTEGRALS OF HYPERBOLIC FUNCTIONS
/sinhxdx =coshx +C
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NTEGRATION RULES
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TRIGONOMETRIC INTEGRALS
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